Name:

GallonBot

Date:

Measuring Capacity

1 gallon = 4 quarts = 8 pints = 16 cups

1 gallon =4 quarts

1 quart =2 pints

1 pint =2 cups

Write the symbol that makes the problem true (> or <).

—_

1
— gallon
5 g

2 quarts

4 pints

2 gallons

3 quarts

2 pints

8 pints

5 cups

8 pints

3 pints

2.

o

o

10.

1 gallon 9 pints

2 quarts 6 pints

1 pint 3 cups
S pints 8 cups
l:gollon 2 quarts

www.softschools.com




Name: Date:

Measuring Capacity

GallonBot

1 gallon = 4 quarts = 8 pints = 16 cups
1 gallon =4 quarts

1 quart =2 pints

1 pint =2 cups

Write the symbol that makes the problem true (> or <).

;:gollon 2 pints 2. 1 gallon 9 pints

2 quarts 8 pints 4, 2 quarts 6 pints
4 pints 5 cups 6. 1 pint 3 cups
2 gallons 8 pints 8. S pints 8 cups
3 quarts 3 pints 10. lr= gallon 2 quarts
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